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Geometry 22: Extra Practice with Chapter 2

I. A stateruent is considered a definition if the original conditional AND its converse are both true. If they are
BO’I’E true, then you ¢ can write the statement as a }9( oM th (mwe which coniains the phrase
codl o (b\ 2

Use the followmg statement for quustings the following questions: AN cats chase mice.
Write this as a conditional

TF rtisa cat 7%?/1 it thates wice
b. State the hypothesis /")L i§ Q Cad

¢. State the conclusion
1 thastS  mie
d. Write the converse [ A° ,r}L %ﬁ,ﬁj ﬂ/[/f’,[/ Al s A CRET

e. Writetheinverse L~ /1~ /& Not 4 cat L Aha (1~ dets p1st~ Chipe ree,

f. 'Write the contrapositive
TF it dets st Chuse mfc,é’ Hhes 1 mo% a ok,

g. Draw a Venn diagram for the above example.

3. Identify the hypothesis and conclusion of the conditional. Write the converse and state whether that is true or
false... if it is false, state a counter example.

If two angles are complementary, then their sum is 90°
/. anus ot thp&mwmﬁpw

Conelusion .

e sum is 90
Comverse__Tof S X's  Wave a seumd of 4 0/( e "WL&U»; e (;efvwgoﬁoma
Converse true or false  4YUL-

Hypothesis

Counterexample (only if false!)

4. Given the statement: Al adjacent angles form a linear pair. Is the statement true or false? Explain,

PIBE pusprosanple “lfcdone
celjucet bt

ﬂ 5"}”’ a Lineer Fa;ff




5. Re-write the following statement as a conditional, converse, inverse and contrapositive. Give the truth value of
each statement, if it is false, give a counterexample.

Two angles that are adjacent share a common vertex,

Conditional__ 42— ¥ are O;f,fw\:? Hen %ﬂ,, chee 4 L{/}’Mw/’;ﬂ\
e -eh

Converse: foﬁ CQ %f“f S}’IC(‘G 4 Lemmavt V‘Q/’I‘W ‘M“ML{ e Qfﬁ“ﬁa@g«
Inverse: ﬂ C;Z ‘)’5 o M Qﬁﬁiw Ften ‘f’l’\u—f do M Shert A NJ“*’}-

Contrapositive: 1F & C}c—/j de ﬂdff SM a_ Lo V“CA“"% -}’L«M“‘HA &Zj
. El oy

6. Use the following statement to answer the following: Vertical angles are angles that share a common vertex.

a. Re-write the statement as a conditional and converse.

Conditional: (Iff 0% é;f Ot Veihcal § N V/L\(’/]"H/‘eq f//l&f{ CL
Converse; iqﬁ @ %1 ' 5/’)&”‘6 a Cdmmon V\e/\{f-{}d %&/L“‘f’(/\fze

rhza

ey 97
b. Is the statement a good definition? Yes or no? y‘? If yes, write it as a biconditional. 7
No.  convere s | s
7. Write the conditional statement represented by the given diagram:
Candy,

T it is o fwix baf’"j Flesw, 17+ Js C,f'mﬁ%

8. Find the value of ‘x’, then the value of each of the labe ed angles,
a. b. N2p c.
oy — () C‘/ Ci30”
& (55" o AN
}‘! = B e o
3 «%Mv D UG Ty b Gy pCTE JEU
S A Y Oxrx=v IxrOxrs = /U
Cx =24 {px +T0 72""5 - 1aU
e h[ 1% ]) ;X f ’? 5 _\
9. Name the property of equality or congruence that justifies gomg frfjm thefirst statement to the second 6( . Z !:“’“"
statement, _ ot
LM = AN b 3x=24 PQ = RS and RS=TU
a. : c. .
Syl RS NASIANS Trzasrhng

U




REMEMBER TO STUDY ALL THE PROGFS THAT HAVE BEEN DONE THROUGHOUT THE PAST

COUPLE WEEKS!!!!

10. Complete the following fill-in proofs.

A, Given: X is the midpoint of MN ; MX = RX

Prove: RX =XN

STATEMENTS REASONS
1) Xis the midpoint of MN D Bdven
2) XN =MX 2 Dafn. milpt,
3) AN = MX 3 befn. &
4) Mx-ogx 4) given
5) XN=RX 8) S bshdupr~
6) Ex=xi 6) Sy e
T
U
B. Given: £1 and £2 are complementary; mZ2 = m.3
Prove: /1 and £3 are complementary
g N
STATEMENTS REASONS
1) £ and /2 are complementary D) sieioe

2) Wl et G0

2) Definition of complementary angles

3) mA2=mL3

3) Graven-

4) e o e 9\ - (I‘D

4) substitution POE

S af evel e 3 eve g piuplam

5) Defn . a:'ucj"\”'vc,{jbxm .

C. Given: Sx+1)=2x+7
Preve: x =4

STATEMENTS

REASONS

1) 3+1)=2x+7

2) (ﬂD ;';5'(%"1-'%\ by

2) %,{ ¥ 1)) > ol ¥
B X B =]

3) : 12 t,bi T L

4) X - (;/ 4) (fw&)#“{"?{ LQ‘{’\/\.‘B
D C
. Given: ZA isaright angle; /B is aright angle, /B = /C
Prove: /A = /C
4 B
STATEMENTS REASONS
1) ZA isaright angle; /B is a right angle 1) Gy
2} LR 2) all right angles are congruent

3)  ep sl

3) given

4) <A T

4) Irashie




F.

E. Given; mZABC=2x-3; msEBD = 8§53
Prove: x =44

\/‘*

/B ..
L D/ E™S
STATEMENTS . REASONS
1) MEABL - ax-3 <o S ) (e

2) 24P Bl < DBP. o et By
3) ZABC = /DBE

2) deﬁm‘tlon of Vertlcal angles

Vercet X5 Thu

4) m“aﬁ”% W <DL =< DBL

4) deﬁmtmn of congruent

5) Stibosh i~

Ax = §8 ) Addede=
7) Tirvis rev~
Given: BD bisects ZABC: mZABD +m/ZC =90 A
Prove: ZDBC and £C are complementary
D
B " C
STATEMENTS REASONS
1) BD bisects LABC D e
2) ZABD = /DBC 2)  befn. pisect
3) mCABD e m< DRC 3) Definttion of congruence
4 e ABY ey = GO 4) Given
5)_m<ZDBC +m/C =90 5) 8 lbs b
6) < DBC ¢ ( et ﬁé'\mq{ok.mm 6) Defin. (;a”‘/bi,‘{j{‘m\fxe,(ﬁ'\g
G. Given: mZ1 +mZ3 =180
Prove: 21 = 42 N3 L
STATEMENTS REASONS
D el tme’d =i D e~
2) Z2and /3 form a linear pair 2)  Dedn. Lo P

) A gd, 3ot spplean

) Bin. Pe. Poghilate

¥

4) e A e R S1LED

4 Bebn. Suw {JLz-/V’\ .

5) mZl+mL3=ms2 +mA3

5) Substitution (or transitive)

6) s} = e I

6) Subtraction Property of Equaliy

7) L5 A

N Defn. £




